Digpereabiahon Higher : Yoar 13 + 1+ Arsuers

f) Spec zoor/zooz

&

A
W -
o

[(x T Zx(Zx)J

a\ ﬂ = 2x
x5+
d‘gj = m_’_[l/db( ~»Cl__d_l{,
djc V" dec  dx
d7c %
_C f) EZ%—FZ—Z}IJ
(x%1)"
= (2-32x*)
Cx % 1)*
= 2 V=)

DC’l éan 7')c

4y = udv + vdu
dnc o o

by o X Welx + Ixtanla
QxLS’eCZZx 4+ Ax {“angac,

2
U=x
d,l :Q')c

——

d

= 2% (x Sec*2x + tan Z?C)

.

V3x +2

= (3x +2

l/?-

= — R

K?)xz-l-Z)g——l

<3x 19 g° ! ¢ b

s oA
h =
N P
W o—

%\Q._T

/= éaﬂ /¢
_Q,_lf 2 25€CL2)C
dhe



2) June 200 |

2% pho'd
“) \lj e € =e V= x4
o+ _@- _ Qez;lc ‘({—\{ _ ‘
_dﬁ_: [vdu - Udv de C
dx \/7— |
Wy - | (x+ I) 7-6“‘ e ( )J
o (M)
= 2(:’(-!-1) = >
C1+)
= 6 Tx+2 — D
(7c+1 =
= €27CC 29 + l)
(x+)*™
LE S R ST g ¥
_(E_ = Ud! ~+ \_/_d_(,i -CTYTZ X ?{-)-C"
the dae dx
0y -

Y
_do_c x*3ls3x + 1xSin3ix
= e <3x C0331+23in3x>

C) Y = J1+ banx!
¥ = Cl-i-éamc) /
~ly )
_@t_ﬂ_ _2_(r+éanx) % Ko

= 5
Sec " x

2.1+ bannd

fl




@ May 3002
«) () y= (|+e'*”‘)
_d_&_l_:.S(l-f-e )%x 2(—:_17C

o+
s — /Oe"’c(wre'“‘)
2.
(") Y= X .
tan x U=2x V= lax
J du =0y W -lr'x
v - L [vdu —ude [ 5T
de TR d ¢ a ¢
_ 27 bany —-—‘JCLS)ecixj
tan x
Z
= :c(?.é-anx——xSecx)
Ean®rc
b) Y= Coslx + x + |
| dy = —28n2x +\ =0 af sP’s
dx
| = a<inlx
1 = Sin 22t
-
K = ’“//@, Sin +ve sk + 3and .
. azx =1 , ST
b b
2 = I) i
‘ i L
Cllg = — 4 closlix
gl &
=T, 47y = -4CsTh x=STa dYy = -fls 0T
dx™ e d’)(” 12
- - +VE

LOCAL M N



@) May 3003

0«) () :j (HZLécmx)

Y - 6(/—/"1#&?415) x U Sec*x
d% = R Sectx (H—lpfamc)b

@) U- x (n(?xw)

= udv + vdu u=x> v= L)/Sr;/
chC— “dac “doc _d_q_ =T .g.f:_f___XJ(Sx
d)c r (3x™
= x bx 27(0»[313-9 = bx
@z ‘H) (SJ;D
= Z2x (31 4 (n (3:(?:!-!) )
3x 41
b e @x 2
) fj = €+2x Ve ok

o+ Z

&y .:_1___[@;@]
dx vE dye dx
+2)" [(x+z (e +1 . !(e +2x>j

- e 4 U +le*py —eF— 25

(x +2)™
Z°+H 0 + ze”
Coc-i—?.)’"
= (1 +x) +U4
Coe+2)e
4 QED

g=
du =42  dv. |
dx ax

(1




o) = bx” i= gl X=xﬁ/
5 oL = X __,_l_/:3xl
! dx dx

[ I 177 -—u_gl_\{j
dx vE dx  dx
- | SI(Sf = U-rl(Sx"')
(x?,_l_,)':.[ x-’.) ]

o gx*—}-ﬁ?x — J2.x¥*
(x *+)*
= Yx-Lx¥
(x 3+ >
= ux(l-xg
C:t:"-H)"" )
b) 5=xzkanx U= T Lanx

v Sec'?"‘)c

&

i

=

g
i

!H

dy = udv + vdu dx
dx dx d

(a1
)

-~ Sec*r + Ixtanx
- 'DC(’JC S‘er,?"x + 7 kan x)




